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1. Find the general solution to: y'+{x+2)y* =0

2. Determine the response of the damped mass-spring system under the given input

force. [Hint: let y(r) =e*]

Y 3y +2y=f(0), yO)=1, y(0)=0

(a) Let f(r) =0, find the homogeneous solution y,(#). (10%)
(b) If step force f(r)=2, find the nonhomogeneous solution y(¢). (10%)

3. Solve the initial value problem by using Laplace Transform: y'+y=0,y(0)=1.(20%)
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4. Derive the eigenvalues and eigenvectors. [

5. Find the Fourier series of f(x) on the given integral. (20%)

0, —-m<x<0
1, OLx<m

f(x)={




